Path dif ference,pd = d%
The point P on the screen will be a point of secondary minima if;
path difference = 2n—1) x% n=1273,....
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or dE =2n-1)X 5
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or y=02n—-1) X% 74

Hence, for nt" secondary minima,
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yn_(zn_l)xﬁ
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For 15¢ secondary minimum: V1 = i [first dark fringe]
For 2™ secondary minimum: y2 =3 ;—Z [second dark fringe]
and so on.
: - AD |
Hence, Dark fringe width: | g =1y, -y, = - |
|
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The point P on the screen will be a point of secondary maxima if,
path dif ference = ni n=01273,....
or d% =ni [n = 0, for central maximum]
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or y=n—
Hence, for nt" secondary maxima,
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Yn="n d
For 15t secondary maximum: V1= %’ [first bright fringe]
. y) : :
For 2™ secondary maximum: Yy, =2 7D [second bright fringe]
and so on.
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Hence, Bright fringe width: 1 =y, —y; = a4 :
|
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Thus, it can be seen that in an interference pattern, dark fringes and bright
fringes are equally spaced.

Note!! |
Knowing the value of fringe width (), the wavelength of monochromatic light (1) :
|
|

can be determined as: 1 = Bd/D




